SH2FE/N\FRTMHEFHEOBE

OFERER (BAZ:FF)
X 7 # E BT O & L] M E ® O &

—fgat 58,250,000 - 58,250,000
ERBERRELEURHBETE(E1S) 16,696,860 1,656 16,698,516
NEERELERIR 12,712,304 - 12,712,304
BEMEERRIRE 41,425 - 41,425
BHBBEEREIR 2,671,358 - 2,671,358

it 90,371,947 1,656 90,373,603
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% A (B FF) % (B FF)
X FIERTOEE| # IE % |[MHIEROHE = WIERIOEE| # E % |[HIEROHE
1 | ERERERY 3,480,296 3,480,296 1 B 295,773 295,773
2 |ERBEGRBRB 2 2 2 |\RBRfAE 11,651,906 1,656| 11,653,562
3 |EAMRUFHH 45 45 3 EERBREAREXEMNE 4,601,006 4,601,006
4 EEXHE 7,504 7,504 4 | HEEXAHE 5 5
b |Rxtié 11,785,472 1,656| 11,787,128 b |\REEBXE 120,600 120,600
6 |BERA 2,498 2,498 6 EeWuse 2,498 2,498
YN 1,353,910 1,353,910 7 |ExHE 16,072 15,072
8 |iEHE 1 1 8 |FRE 10,000 10,000
9 |FEWA 67,132 67,132 5 16,696,860 1,656| 16,698,516
g 16,696,860 1,656( 16,698,516
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A (8fir: F9)
: # A & I # = BEMOE # E 8 REKOE HANBA
BABERA | [F157) i
REHE 8% 0O LR BRESHET 4 2R MY S OB 32497 1656 34158 MIRFSER
4 1E &H a =t 1,656
e (Bf: )
: I # = BENOBE % E 8 REROE HANBL
ALITTTA | 19543) ;
RIEHATE BRI | sn S0 L AR ST S 2 ORI 0 1.656 1,656 ElR &SRR
HF LS
& 1E % ) &t 1,656




